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Q.No: 1 Why the per capita water availability in India is reducing
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due to decrease in pollution
due to less use of rainwater
due to decrease in population

due to the increase in population

Material deposited by flowing water is called
Alluvium

Alluvival Fans

Albedo

Grid

Which of the following is an economic activity?
To play football by a student

To teach son at home

Teaching of a teacher in the school

To serve her child by mother

Which nozzle covers the entire area at small range and the construction is similar to hollow cone nozzle with the addition of an internal jet which strikes the
rotating liquid just within the orifice of discharge?

Fan nozzle
Floodjet nozzles
Fan type nozzle

Solid cone nozzle
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Q.No: 5 Diameter and height of the USWB open pan evaporimeter is
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No: 6

No: 7

.No: 8

No: 9

.No: 10

200cm and 20 cm respectively
150 cm and 15 cm respectively
122 cm and 25 cm respectively

100cm and 20 cm respectively

The logical sequence of water resources planning are

watershed plan, sub watershed plan and Site management plan
Site management plan , sub watershed plan and watershed plan
site management plan, watershed plan and sub watershed plan

water conservation plan, watershed plan and sub watershed plan

Which device unit that emits ultrasonic sound waves to create an acoustically hostile environment ?
insect & mosquitoes repellent

mosquitoes repellent

insect repellent

Rodent repellent

In power sprayer which part is used to prevent corrosion
copper strainer
Steel Tank

Prime mover

iron Agitator

Major source of methane in India is
Mustard fields

Rice fields

Maize Fields

Wheat Fields

A.P.P. Will be equal to (Y = output, X = input):
1. X/Y

II. X/Y x 100

III. Y/X

Only II

Only III
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.No: 12

.No: 13

.No: 14

.No: 15

dda

Only I
All I, IT and III

Clouds responsible for rains during summer are called
Cumulonimbus

Cumulus

Stratus

Cirrus

Government constituted Sri Hanumantha Rao Committee in which year for proper management of land, water and forest in rural area?

1983
1990
1980

1981

When a large number of sellers deal in heterogeneous and differentiated form of a commodity is called

I. Duopoly Market

II. Monopoly

III. Monopolistic competition
All I, IT and III

Only II

Only I

Only III

The members of chlorophyceae are commonly called :
Blue algae

Green algae

Black algae

Yellow algae

A device used to measure liquid pressure in a system by measuring the height to which a column of the liquid rises against gravity

piezometer
turbiodometer
electrometer

galvanometer
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Fenni is prepared by
Cashew

Date palm
Karonda

Aonla

Variable costs are also known as ?
Non unit costs

Even costs

Unit-level Cost

Simple costs

At the balance sheet date, the balance on the accumulated provision for depreciation Account is
Transferred to Profit and Loss Account

Simply deducted from the asset in the Balance Sheet

Transferred to the Asset Account

Transferred to Depreciation Account

Tea mosquito bug is a major pest of
Date palm

Cashew

Custard apple

Aonla

Rotenone value in rats is approximately 60-135 mg per kg of body weight is more toxic to
male female

male rats

female rats

female cats

based cropping system is predominant in low lands of India
Rice
Lentil
Wheat

Sugarcane

First 15 cm layer of land which is ploughed for cultivation of crop is called:
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A Soil gt
B Soil profile TeT Wwisd
C Furrow slice Wﬁm
D Rhizosphere soil TESRPR gt
Q.No: 23 Implicit cost may be considered as Jfdffed ard o ... YT o Gbell &
A Social cost ArIRIE ARt
B Private cost foeht amma
C Normal cost HTHT d1Td
D Variable cost Rad=ite arTa
Q.No: 24 The most common type of respirator used by pesticide applicators. PleARIS URIHeR gRT STANT fHaT S are Ja T UHR &I 4Ta= |
A vapour respirators qr YA
B Cartridge respirators PIfeS YT
C charcoal respirators ARDIA Y TaT
D purifying respirators YK Ere kIR I UES
Q.No: 25 Fruit cracking disorder is due to the deficiency of e i Uik fraast F I ghar &2
A Au Au
B B B
C Ag Ag
D Zn Zn
I9d Uy W qd & Amafxy gof I 1 g {1 31 G SMURY ot T8 F S wHAt|
Q.No: 26 Number of Agro-ecological zones in India is URd & pR-uRkfRufafE &= o) Tem
A 15 15
B 20 20
C 10 10
D 12 12
Q.No: 27 Which gloves are not suited for handling pesticides. PleATd! B YU F o B J g™ 3Ugad T &I
A Neoprene ferdinfter
B butyl rubber EEESEEN
C nitrile BIEHES
D Leather TJHST
Q.No: 28 Rice supplies are primarily attacked by which types of rodents I19d Bt YR R T T § 59 TPR F Fiob! gRT g9 a1 oIl §
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Osgood's rat
Annandale rats
Timor rat

Bandicoot rat.

Which is the first piece of PPE to be put on and the last to be removed.
Gloves

Face shield

Boots

Goggles

What do you mean by under conditions of perfect competition in the product market?
I. MRP=VMP

II. MRP >VMP

III. VMP>MRP

All I, IT and III

Only I

Only II

Only III

Rats do not spread disease through their:
blood
saliva
urine

bites

The contribution of Photo synthetically Active Radiation (PAR) in crop production is
8-16%

12-20%

2-10%

10-14%

Which of the following is the most important factor affecting climate
Topography

Latitude

Ocean currents

Distribution of land and sea
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Q.No: 34 Which of the following is not salt tolerant fruit Crop?

A Aonla

B Karonda

C Corn

D Date palm

Q.No: 35 In India Locust warning organisation of the Govt. of India was established from April 1939 and in 1942, a coordination was put into operation.
A Locust killing operation

B Desert Locust Project

C Winged locust swarms control

D Antilocust Scheme

Q.No: 36 The constituent responsible for the aroma of apple is
A Ethyl-2- Methyl

B Eugenol

(o} Isopentol

D Hexyl buterate

Q.No: 37 Long curved cards are used in sunshine recorder during

A 12th April to 2nd September

B 3rd September to 14th October

C 15th October to end of February

D 1st March to 11th April

Q.No: 38 Which among the following is considered as rain bearing clouds
A Stratus

B Cumulus

C Nimbostratus

D Stratocumulus

Q.No: 39 Silver shoot in paddy crop is due to the attack of which pest
A Stem Borer

B Spiny Beetle

C Gall Midge

D Grass Hopper
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Q.No: 40 The scientific integration of different independent and interacting farm enterprises for efficient use of resources is called TareA & ERKE I & forg fafte T iR WW@ I F IS THIBRON Bl YT o
A Mixed Farming fafda @<t
B Mixed Cropping i3 waa
(o Integrated Farming System TDIpd PV Homeit
D Cropping System A oIt
Q.No: 41 Integrated Watershed Management Programme (IWMP) launched in which year? THIHd IS YA HRIHH (IWMP) g a8 3= faam mar?
A 2005-2006 2005-2006
B 2001-2002 2001-2002
C 2009-2010 2009-2010
D 1990-1991 1990-1991
Q.No: 42 What is the strategy for watershed management? RS T & o T 0 22
A to activate environmentalist wafaRvfag ot wfvg F313 & g
B road construction Hsd fermfor
C production of quality water at the right time & place TE 9T 3R R”E W WW BT IdTGA
D to understand loss of energy it Pt g1 B FHgH & fog
Q.No: 43 What is the objective of watershed management to treat all environmental concerns in integrated manner? RIS YA BT I8 AT T S TR e $1 Iz, yaieRoy Teifia & s W Rl
A Increasing living standard Sitew @R ¥ g
B meeting the problems of land and water use U 3R ST SR Bt FERATSHT B GIT BT
C maintaining growing population mmﬁmm
D sustainable distribution of its resources 3T AT BT Had faor
Q.No: 44 Who should apply pesticides BRG] &1 TaNT {8 FHRAT A1y
A Pest control operator Fie g eifRex
B pest controller @e e
c pest terminator B eftfdeR
D Pest operator B TR
Farm planning involves: P I A WAL
Q.No: 45 I. Preparing farm budget in advance 1. m%wwﬁmm
11. Selecting and adopting best package of practices I1. TT3f & Faiaw Spet BT 9a7 3R I& STHT
A Both I and II 1 3R 11 Y
Neither I nor II FA A II
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Only II

D Only I

Q.No: 46 Aquiclude does not yield water it is a
A geological formation which is impermeable to the flow of water
fluid reflecting a significant amount of incoming light

moisture percentage

o 0 w

Albedo

Q.No: 47 Two Oilseeds occupying major area of oilseeds in India are

A Sunflower and Sesame

B Groundnut and Sesame
C Groundnut and mustard
D Castor and Sesame

Q.No: 48 Which respirators use an electric pump to draw air through a charcoal cartridge and particle filter.

A Cartridge respirators

B charcoal respirators

C water respirator

D Air-powered purifying respirators

Q.No: 49 Charging dust improved control of insects and diseases on number of different crops are sprayed by

A Pneumatic atomizing sprayer
B Aircraft sprayer

(o} Electrostatic sprayer

D air-blast sprayer

Economic growth measures the

I. Growth of productivity

Q.No: 50
II. Increase in nominal income
III. Increase in output

A Only II

B Only I

C Only III

D All I, IT and III

Q.No: 51 All clouds are contained in
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Ionosphere
Troposphere
Thermosphere

Stratosphere

National agricultural cooperative marketing federation (NAFED) established in the year-
1960
1966
1957
1958

The boundaries of a watershed is determined by
ecological balance

Ecological imbalance

The elevation of the surrounding area

The size of the river

Cold cloud seeding is done by injecting into the clouds
Potassium Chloride

Ammonium Choride

Silver Iodide

Ammonium Sulphate

Suppliers personal a/c are seen in the
General Ledger

Nominal ledger

Purchases Ledger

Sales Ledger

What is the main component of Watershed Management to runoff and Nutrient loss?
Urban runoff

Rainwater harvesting

Energy crises

Ecosystem series

Abnormal leaf fall of rubber is due to

Mycoplasma
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Viral
Bacterial

Fungal

World Meteorological Organization (WMO) was set up at
USA

Spain

Canada

Geneva

State having the largest area under arid climate is
Rajasthan

Punjab

Madhya Pradesh

Andhra Pradesh

Maximum temperature during the day is generally observed between
2 pmto 3 pm

12 noon to 1pm

1 pmto2pm

3 pmto4pm

Yellowing of lawn grass indicates deficiency of which nutrient

K
(o]
P

What are pest control workers called
Crop pest controller

Pest Technicians

Pest Management Exterminators

crop pest technician

The best use of limited resources is studied under the law of

I. Substitution
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II. Opportunity cost
III. Diminishing returns
Only I

Only I1

Only III

All I, IT and III

Chlorophyll contains which minerals nutrient
Mn

Mg

Cu

P

Nira is prepared from the juice of
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I1. 3a¥R AN
II1. BREE & (Ufawa)
Faa I
Fad 11
Fad 111
Wt 1,11 3R 111

TR & HH § TS 0d 7@ 81 87
Mn

Mg

Cu

P

AR F T Q IR o o 1

Chashew nut BT

Custard apple birival
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Discharge is the volume of water moving down a waterway per unit of time. It is most commonly expressed in . et ot Bt 7 § S ufe gfte T B Somn | A o 81 98 I9Y siftie o =
Square meter per day ufa e @f ez

Cubic centimeter per day ufafes o= Sdhiex

Cubic feet per seconds W Fe Ui AFs

Litre per seconds or day tex ufa Abs wr feq
Primary objective of shelter belt is Teex Jee BT UYHE ITT 7
Reduce wind velocity BT BT & HH AT
Shade the crop A B O A d
Increase the water table W &R e[ &

Reduce the temperature ATIHE H H39 §

Costs that do not vary with production are..?
1. Marginal costs

II. Variable costs

II1. Fixed cost

Only III

Only II
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All I, IT and III

Only I

The enzyme-catalyzed transfer of phosphate groups from donor molecules to ADP to form ATP is called

Photo-phosphorylation
Substrate-level phosphorylation
Oxidative phosphorylation

ATP oxidation

Seeds are sown immediately after extraction in which fruit
Mango

Date palm

Custard apple

Citrus

Average product is equal to marginal product when:
I. Average Product is maximum

II. Average Product is minimum

III. Marginal Product is zero

Only II

Only III

All I, IT and III

Only I

The pest which cause damage to the grain at milky stage in rice
Earhead Bug

Brown Bug

Orsi Bug

Black Bug

Sweet potato is a
Long Day Plant
Short or long day plant
Short Day Plant

Intermediate

Q.No: 74 Integrated Watershed Management Programme (IWMP) is launched by which department
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Q.No: 75
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Q.No: 76

O 0 w

Q.No: 77

o 0 w

Q.No: 78

O 0 w

Q.No: 79

O 0O W

Q.No: 80
A

Department of ecological balance and law
Department of urban development
Soil science department

Department of Land Resources of Ministry of Rural Development

What does Price flooring mean?
Surpluses

Equilibrium

Shortage

Both Shortage and Equilibrium

What is the main objective of IWMP

maintain food chain

Degradation of organic waste

to restore ecological balance by conserving and developing degraded natural resources such as soil and water

to conserve wildlife

What do you mean by the supply of goods?

Total stock in the warehouse

Stock available for sale

Quantity of the good offered for sale at a particular price per unit of time

The actual production of the good

Solar energy utilization is high during the stage of crop.
Maturity

Vegetative

Flowering

Germination

An area surrounding a body of water in which that body of water is subject to
Watershed

hydrological cycle

Rainwater harvesting

ecological balance

CFB Box is used for packaging of

Aonla
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B Custard apple
Grapes
D Mango

Q.No: 81 For washing fruits and vegetables, the concentration of Chlorine should be

A 300-450 ppm
B 50-200 ppm

(o 250-400 ppm
D 200-350 ppm

The charges of placing commodities into a saleable condition should be charged to:

I. Trading account

Q.No: 82
II. P& LA/C
III. Balance Sheet
A Only I
B Only III
C Only II
D All I, IT and III

Q.No: 83 Discharging of all collection of watersheds into the same major body of water is referred to as a

A drainage basin

B wetland

C sewage drainage system
D watershed

Which document lists the hazardous ingredients of a product, its physical and chemical characteristics , its effect on human health, the chemicals with which

Q:No: 84 it can adversely react, handling precautions, the types of measures that can be used to control exposure, emergency and first ?
A international Globally Harmonized System

B STP

C SSP

D Material Safety Data Sheets

Q.No: 85 Which scheme is initiated by Indian Government through which land and water is used efficiently in a sustainable manner to improve farmers livelihood

A IWDP
B WDC-PMKSY
C DPAP
D PMRY
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Q.No: 91 Supervisors and employees must be trained to work safely when handling pesticides, they should wear clean
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The higher level of floods and droughts are led by
less water of water

fog

lower precipitation

higher precipitation

Primary aim of watershed protection is:

to produce energy

to preserve, sustain and restore water quality
to deals with epidemics

to manage urban settings

Alcohol percent in wine should be
5-10%

20-30%

30-40%

10-20%

Fixed cost includes..?

I. Taxes

II. Insurance

II1. Depreciation on machinery
Only III

Only II

Only I

All I, IT and III

Pollination present in walnut is by
wind

Hand pollination

Birds

Insect
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Q.No: 92 According to National Bureau of Soil Survey and Land Use Planning, the number of Agro-Eco regions are

A 15
B 20
C 8

D 24

Q.No: 93 Male plants can be converted to female plants by

A Wedge grafting

B Epicotyl stone grafting
C Inarching

D Topworking

Q.No: 94 Which nutrient is absent in factomphos

A Phosphorus
B Nitrogen

C Oxygen

D Potassium

Q.No: 95 Clove, commonly used spice is obtained from which part of the plant

A Flower
B Stem
C Leaf
D Root
The level of variable cost is influenced by ?

I. Only fixed cost
Q.No: 96
II. Only the duration of project

III. Only on uncertainty

A Only II

B All I, IT and III
(o} Only I

D Only III
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Q.No: 97 Which among the following statements about glycolysis is not true? TARHIARE F IR § Fufied § 3 o1 o1 T 99 18 32

A The energy-releasing steps of glycolysis produce two molecules of NADH. ﬂﬁﬁﬁﬁﬁﬂ’l F Hoil-fawraT a0 § NADH & &Y U] ITqA Eachd

B The energy-releasing steps of glycolysis produce four ATP molecules per glucose molecule TRETIE # FHui-fHE W1 F gRI Ui [GHio ] § IR ATP 30 IO B §
[ The six-carbon glucose molecule has been converted into two molecules of a three-carbon end product BE-DIE TTDI 3] P! di--Bra 3 ScTq & of upsit § uRafda fear wmar &

D The site of glycolysis is mitochondria. maﬂﬁm &1 fopareaa mgzﬁaﬁ%m 2l

Q.No: 98 Central AGMARK laboratory is at- ST WD TENTITT el [Ud 82

A Nagpur AR

B Jaipur SR

C Hyderabad ARG

D Chennai EEH

Q.No: 99 Instrument used to measure solar radiation is

A Barometer

B Psycrometer
C Anemometer
D Pyranometer

Q.No: 100 Propagation of annual drumstick is usually done by

A Root Grafting
B Seed

C Root Suckers
D Limb Grafting

Q.No: 101 Which of the following teams did Pele play for?

A Spain

B Portugal
C Brazil

D Argentina

Q.No: 102 The central highland region of Madhya Pradesh includes how many uplands?

A 2

B 3
C 4
D 9
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Q.No: 103 Which of the following rivers is known as the Tsang Po in Tibet and Jamuna in Bangladesh?

A
B
C
D
Q.No: 104
A
B
C
D
Q.No: 105
A
B
c
D
Q.No: 106
A
B
C
D
Q.No: 107
A
B
C
D
Q.No: 108

A

B
C
D
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Brahmaputra
Yamuna
Indus

Ganga

Which of the following dynasties’ rulers were known as the ‘lords of the Dakshinapatha’?
Shakyas

Cholas

Satavahanas

Kushanas

Vijay Kelkar Committee is associated with
Tax reform

Disinvestment

Local government

Center and state relation

Which of the following Committee recommendations are related to the estimation of population of poor in India?

Chelliah Committee
Dutt Committee
Chakravorty Committee

Lakdawala Committee

Since which of the following year did the Madhya Pradesh Rural Road Academy (MPRRA) start its operation?

2018
2011
2009
1999

Who constructed the famous Rajwada Palace of Indore in Madhya Pradesh?
Ahilyabai Holkar

Yashwantrao Holkar

Tukoji Rao Holkar

Malhar Rao Holkar
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Q.No: 109
A

B
C
D
Q.No: 110
A
B
C
D
Q.No: 111
A
B
c
D
Q.No: 112
A
B
C
D
Q.No: 113
A
B
c
D
Q.No: 114

A

B
C
D
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Which of the following is the oldest temple at Pattadakal?
Jambulinga Temple

Sangamesvara Temple

Mallikarjuna Temple

Virupaksha Temple

Who is known as the "Iron Lady"?
Margaret Thatcher

Hillary Clinton

Angela Merkel

Golda Meir

Which of the following activities fall under the tertiary economic sector?
Forestry
Banking
Weaving

Dairy

Which famous Indian playback singer adopted the stage name as Kishore Kumar?
Gautam Anirudh

Abhas Kumar Ganguly

Kedarnath Bhattacharya

Hemant Mukhopadhyay

World Trauma Day is observed every year on which day?
30 October

16 October

6 October

26 October

What is the core mainly made of?
Nickel and magnesium

Iron and nickel

Iron and aluminium

Iron and magnesium
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Q.No: 115 Which Indian institute has started a large-scale operation to process and dispose of solid waste generated solely by the institute?

A
B
C
D
Q.No: 116
A
B
c
D
Q.No: 117
A
B
c
D
Q.No: 118

A

B
C
D

Q.No: 119

o 0O w P

Q.No: 120

https://mppeb.cbexams.com/MPPEB_Cand_Objections/G1g2recruitementesbresponses/ViewCandResponse.aspx

National Institute of Urban Affairs, Delhi
India Institute of Research, Pune
India Institute of Science, Bangalore

All India Institute of Medical Science, Delhi.

Food laws fall under which of the following groups?
Mandatory standards and voluntary standards
Preventive standards and hygienic standards
Safety standards and security standards

General standards and potential standards

People don't feel gravity in manned satellites, which are known as

Less-weight gravity
Escape velocity
Gravity-weight

Weightlessness

Bacteria divide by
Spirilla.

Fusion.

RNA.

Binary Fission.

Which of the following nutrients are provided by fertilisers to plants?
1. Nitrogen

2. Phosphorus

3. Potassium

Choose the correct code.
1,2and 3

Only 1 and 3

Only 2 and 3

Only 1 and 2

Which is the correct representation of Charles’ law?

mppeb.cbexams.com/MPPEB_Cand_Objections/G1g2recruitementesbresponses/ViewCandResponse.aspx
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Q.No: 121 Which of the following methods helps in separating cream from milk? ot 7 3 39 W fofy gy 3 meea (FW) Feas 3 TeEs 32
A Sublimation Ssaurdd
B Centrifugation HETIHIROT
C Chromatography N
D Distillation EINEE)
Q.No: 122 If we heat water, it will contract till the temperature of - e &7 U &1 TH B €, Al & ___ AIOAH dcb Ripe -
A 40¢ 40¢
B 50K 50K
C 2.7349C 2.7349C
D 40K 40K
Q.No: 123 The colour of dustbins in which non-biodegradable garbage such as plastics, metals, glass, etc., are collected is FagH BT 1 g R-Safieruiia H=R1 I8 @ies, uTg, S ofe THd T o &, &1 91 8a
A Orange S
B Red oA
[ Blue ar
D Green &
Q.No: 124 DPT vaccine is categorized as which of the following? 3 @t & ot Prfafaa & ¥ 59 usR &1 8ar 32
A Anti protozoan vaccine ufa wierseq At
B Anti rickettsial vaccine yfa R¥efwa dar
C Anti viral vaccine ufa fawmoes St
D A combined vaccine TP I ST
Electrical energy can be harnessed from - fagga Sof &1 g T o1 gHpar © -
1. The Sun 1. S
Q.No: 125 .
2. Seas 2. 9RY
Choose the correct code - TS Bl BT I BifoTe-

https://mppeb.cbexams.com/MPPEB_Cand_Objections/G1g2recruitementesbresponses/ViewCandResponse.aspx 22/37


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

7/25/£;, 3:0;1 IM

A

B
C
D

Q.No: 126

O 0w

Q.No: 127
A

B
C
D

Q.No: 128

o 0O W >

Q.No: 129
A

B
C
D

Q.No: 130
A

B
C
D

Q.No: 131

Neither 1 nor 2
Both 1 and 2
Only 2

Only 1

The heat from the Sun reaches the Earth's surface predominantly by which of the following modes of heat transfer?
Induction

Conduction

Convection

Radiation

We can eat the roots of many plants. Which of the following is an example of a plant with edible roots?
sweet potato

potato

Wheat

ginger

Name the process which involves transfer of amino group to keto acid, to form a new amino
acid.

Peptide amination

Reductive amination

ATP reduction

Transamination

Which of the following statements is invalid with respect to open-source software?
It more secure and stable than proprietary software

It tends to both incorporate and operate according to open standards.

It provides phone support and email support.

People have more control over open-source software

Which of the following architecture is used in i-7 computers?
Next generation Intel microarchitecture (Nehalem)
Penryn microprocessors

Pentium Processors

Quadcore

Which of the following is the recurrence relation for binary search?
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WaTgh

Hag

fafeor

T HS Uil Bl SIS B! W Fd ¢ Fufifed # § o9 9 0 F os @M a8 77
RiCaL I

ST

g

3B

I ufspar &1 AW < Fored Teb T 3 RS S @ o ol T ) el uis
RN ferar S &1

YpTgs wYT

Rsfeea w=iem

T A weht

FNERRE

- witedeR & Fey & Fafifed § 9 &1 @ HyF oM 87
Tg MuTsed WivedaR B ga & e e ok RR 2

g WA AAS] S IFAR ARG R Farfera 1 &Y wafy waar 81
g B HUIE 3R $HG HUIE YS el B

3o R WiwedmR W A BT ot Frior gt @

i-7 $ugeR # frofafed & F frg snfdear &1 Iudn fasar S &2
ART SRR 3o ARHIAMHFeR (Fea)
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Q.No: 132

O 0O W

Q.No: 133
A

B
C
D
Q.No: 134
A
B
C
D
Q.No: 135
A
B
c
D
Q.No: 136

A

B
C
D

Q.No: 137 The phrase "computer equipment" refers to equipment that might be added to a computer system to increase its capabilities.

A
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T(n)=t(n-1)+1
(n) =T(n/2) + 2
T(n) = T(n/2) + 1
T(n) =2T(n-1)+ 1

Which of the following describes the connection of peripheral devices to a computer?
Internal connection

All connection

Computer connection

External connection

Who created the advanced language "C"?
Donald Kunth

Seymour Papert

Niklaus Writh

Dennis M. Ritchie

Which key is pressed to restart the computer?
Backspace + Ctrl

Reset

Del + Ctrl

Ctrl + Alt + Del

Which of the following traits does not apply to computers?
Versatility

Intelligence

Accuracy

Diligence

Bar charts can be plotted on
Only two data series
None of the given options
Only one data series

Multiple data series

Peripheral device
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T(n)=t(n-1)+1
(n) =T(n/2) + 2
T(n) = T(n/2) + 1
T(n) =2T(n-1)+1

g & § P dYR I WA IJUBRIT F HaRH BT g FRT 82
Safke daeRE

Tl FARE

PR FARA

qEH FARA

TSI A "C" T FAwir fee faa wre
IS $Y

R dud

freara Tge

3fr . it

PR P ARTE B B 1 B o aaré o 32
Backspace + Ctrl

Reset

Del + Ctrl

Ctrl + Alt + Del

FroafifEd § 3 SH-8 Rdvar srged w o 78 8l 82
THE! UfAUT (Versatility)

FfFar (Intelligence)
JIHdT (Accuracy)

uf¥yw (Diligence)

IR Y B W wic A S e 1
Faa 3 ST gEen

g e freedl F & H1§ 78

$9d TH ST §Eal

iU et e

R "SR IJTPRU" I ITBRUN Bl Tefiid Hear & o8 FHeR Ren 7 3! eransit B ggm
ufesfia IUHROI (Peripheral device)
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Q.No: 138
A

B
C
D
Q.No: 139
A
B
C
D
Q.No: 140
A
B
c
D
Q.No: 141
A
B
c
D
Q.No: 142
A
B
C
D
Q.No: 143

A
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Digital gadget
System add-on

Auxiliary equipment

With what does the “Decode” phase of machine cycle, decodes the instructions?
logic unit

memory unit

control unit

instruction unit

Which component is in charge of formatting user-provided data so that computers can understand it?
Output unit

Input unit

Arithmetic and logic unit

Memory unit

Which one of the following error will be handle by the operating system?
Lack of paper in printer

Power failure

Connection failure in the network

All of the given option

Which of the following is invalid with respect to worms?
It cannot controlled by remote

Worms can be removed by antivirus

It is capable of working on its own

It can send emails without our knowledge

With respect to computer network, what does "LAN" stand for?
Local Array Network

Local Area Network

Local Array Number

Local Area Net

Raghu is at point A. He walks 3 km to the North and then turns to his left. He walks 4 km in this direction. He turns left again and walks 6 km. If he wishes
to reach point A again. In which direction should he be walking and what direction should he be walking and what distance will he have to cover?

North-East, 5 km
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feferea Mo
Rew ¥s-3iF

Heldd TPV (Auxiliary equipment)

T =% 1 fePrs” U frad Fdw 31 fsdrs e o2
e gfe

ANt gfre

et gie

R e

IRl gRT UeH T MU 3eT &Y WENA (formatting) & & fIT BIF-T1 Uedh RSAHER § i
smseye gfre

FIYe e

SHIMI 3R Th FHTS (Arithmetic and logic unit)

AR gfe

Frofafed & 9§ o o TR TR Rien @ T8 aR T 32
AP 3P TR 3 filex

iR Her

FARMA e 59 ¢ Acad

e e Tt fawe

Fofefed & @ o9 o $ & Jey F smr 2
59 Reite & Frifra 7€t fear s @@ 8
TSR GRT P B g1 o WAl §

g U ATy FTE FR F WeW ¥

g g TERt & 1 S99 O wwd @

FUR Teadh & T H, "LAN" BT F aref §?
Wea W Aead

wea g Fead

e W TR

W giar A

g T fig W 31 98 IR F 3R 3 frrht R o § oiR R oo 1S oIk g 71 3 fa=n & o
RIS A1E 7, A SY 59 fa=m & o aifee ok g fraht g @ s

IWR-1d, 5 fetht

25137


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda TN

7125/ mppeb.cbexams.com/MPPEB_Cand_Objections/G1g2recruitementesbresponses/ViewCandResponse.aspx
North-East, 4 km IWR-7d, 4 ft
South-East, 4 km aféur-ud, 4 feuht
D South-East, 5 km gféror-ud, 5 i

Francis started walking in east direction from point P. He walked for 3km and then took a right turn. After walking 24km, he took a left N v .
.No: ! iRk fig P 3 gd fa=n 3 SR IeHT YF &l 5| 3 fovHl Ieq & w18 Sar el 7o & a1g b
Q:No: 144 turn and walked for 4km and stopped at point Q. What would be the shortest distance between P and Q? ‘1?; %l RERLEE %l 24 ¥ e o e

A 20 km 20 f&di
B 22 km 22 &
c 23 km 23 foeft
D 25 km 25 foit
In the following question, select the related number from the given alternatives. fefafad wea & fou T fawedt & § g T &1 gl
Q.No: 145
63:18::54:7 63:18::54:7
A 28 28
B 21 21
(o 20 20
D 25 25
Choose the choice that is related to the third term in the same way that the second term is related to the first term. 9% fased g off iR U ¥ I IRe Gafid § 9 gOT U, Ugd UG § Efid 7
Q.No: 146
RPMJ : TNOH :: VLQF : ? RPMJ : TNOH :: VLQF : ?
A XUlb XUlD
B X3Isb X3ISD
C XJDs XJIDS
D DISX DJISX
A started from point P and went 2 km East; he turned right and covered 3 km. At the end of 3km, his cycle got punctured. He left it with the mechanic and A fgrigraxas R 2 M AT s IR ik sas Rz isigdas
Q.No: 147 turned right and went 1 km. Then he turned left and went 1 km and finally he turned right and after walking 1 km, reached his destination. TE A BT FHMF S U9 BIS a1 ¢ IR A8 GﬁTHGHT% 3R 1 fop. 7 e 81
R 98 1< 3R gaar ¢ iR 1 .7, ST ® 9w siqd: 98 31 3R gedr 3 iR 1 .. 9em b e
How far is A’s destination from P (shortest distance in km)? P Y A &1 Tiaa fbat @R 8 (5.1, & wad &4 gdl)?
A 4 4
B V4?2 4 22 VaZ 1 22
C V42 4 32 Vaz 32
D V32 4+ 22 V3r 422
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. —_— — S N - - i ) ! T (Afd ge WM &, RBI IS TUH, MBI USTUH, ABIK
.No: In a certain code language, R is written as J, M is written as U, A is written as K, Y is written as C, I is written as F and P is written as B . How will ‘PRIYA’ be written as in that language? | ,
QNo: 148 91eg GUATET It e T F PRIVA’ FY B e wgT?

A BJFKC BJFKC
B BJFCK BJFCK
C BFJCK BFICK
D JBFCK JBFCK
Find the missing letters in the following series. Fufafad saan & g HER AT PifoR?
Q.No: 149
F, K, U ? F, K, P U, ?
A G
B z z
C D D
D A A
Find out the wrong term from the given alphabet series. 4t ﬂ's‘aqum E'ren) 7 TTed UG I B |
Q.No: 150
TKT QLM TOP KNS HOV TKI QLM TOP KNS HOV
A QLM QLM
B KNS KNS
C TOP TOP
D TK) TK)
S UY W A § MUy oot Bt S gt 81 3fel: T ST ol 161 @ off Wbt |
Which is the WRONG term in the following series? ot saar & Tad ue H 91 82
Q.No: 151
HDFG, GEEH, FFDI, EGCH, DHCK HDFG, GEEH, FFDI, EGCH, DHCK
A EGCH EGCH
B HDFG HDFG
C DHCK DHCK
D GEEH GEEH
Q.No: 152 Find the odd one out from the given alternatives. fau v faswent & 9 fawny e / sierR gm ghu
A 36:48 36:48
B 24 :32 24: 32
C 12:16 12:16
D 27 :18 27 :18
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Q.No: 153

O 0 w >

Q.No: 154

O 0 W »

Q.No: 155

O 0O ®w >

Q.No: 156
A

B
(¢
D
Q.No: 157

A

B
C
D

In the following figure, enter the omitted number in place of question mark (?).

S
sy

13
9

11
10

Four people Veena, Malik, Chaman and Dixi are sitting in a linear row facing south, not necessarily in the same order. Dixi and Veena are the adjacent
neighbours of each other while Veena is sitting at the extreme right end of the row. Dixi is not a neighbour of Chaman. Who sits to the immediate left of
Dixi?

Malik
Veena
Chaman

Dixi

Rajeev ranks 12% from the top and Krishna ranks 26% from the bottom. If there are five students
between them, then how many students are there in the clags?

43

42

41

44

Choose the odd one from the given alternatives.
IPQ
RYZ
FGM
UBC

Two persons earn in the ratio 4 : 7. If both earn Rs.3000 more, the ratio of earning will be 2 : 3. Find the sum of their earning (in rupees).
19800
15400
16500

13200
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Fafafaa srefa &, vy fUg (?) & VM R gw e I1d S|

S
sy

13
9

11
10

IR T A, AR, T SR o Ue ufek & afaor 3 oik g v 93 7, e e 5 @i
BR W 9 81 SR = 3 ugih 78 &1 SR & Sip a8 1 Sa1 82

afers

=

o

et

Tofia =i F 128 =M W € 3R Fon A9 § 269 »F R 31 A 3% ot ofg e €, o wen:

43
42
41
44

o e e & e B g
1PQ
RYZ
FGM
UBC

3 fdT 4 : 7 & AU § HAQ &1 S IHT 3000 3. S FA, A ITBT HHE HT UG 2 :
19800
15400
16500

13200
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.No: 158

.No: 159

.No: 160

.No: 161

.No: 162

.No: 163

dda

The price of petrol is 40% more than price of diesel and price of diesel is twice the price of kerosene. If the price of petrol is increases by 12%, price of
diesel is increases by 15% and price of kerosene is decreases by m%, the overall increase is of 8%. Find the value of m.

15.1
16.4
17.2
18

Simplify: 3x25-1.3x9+23x4
6.5

6

5.5

5

Simplify: 0.3 x 0.9 + 0.6 x 0.5-0.2x 0.1
0.45
0.55
0.40

0.50

Find the area of rhombus whose diagonals are 12 cm and 21cm.

100 cm?

120 cm?

126 cm?

124 cm?

10 buckets of water fill a tank when the capacity of each bucket is 27 liters. How many buckets will be required to fill the same tank if the capacity of each

bucket is 9 liters?
32
30
38
36

500 gm of sugar solution has 45% sugar in it by weight. How much sugar must be added in the solution to make it 60% sugar solution (by weight)?

180 gm
195.25 gm

187.5 gm
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Ui Bt BT SO BT BT A 40% 3H¥eh 3 3R Soiet Bt BIAd WSt S dd Bt BIAT ¥ ST ©
Bt 8 3R g} & 97 B FHT m% I e IIh 7 A $d AR 8% I 3G ERlt 1 m BT AF W

15.1
16.4
17.2
18

WAPIMNL : 3x2.5-1.3x9 +2.3x4
6.5

6

5.5

5

T PIOT : 0.3 x 0.9 + 0.6 x0.5-0.2x0.1
0.45
0.55
0.40

0.50

TGS $T AT F1d BifoTe s ol 12 It 3R 21 et §1
100 e’

1209}
126 Tfi”
124 TIff”

T I Bl 10 UFT BT ATl F WRT S 8, S YA dlect Bl &HaT 27 ofieR 81 3FR Udd §le
grf?

32
30
38
36

9t % 500 T G § UR F & & 45% I 51 9 § R e I+ s o e o e
180 I

195.25 I

187.5 I
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D 175.5gm

Q.No: 164 H‘s—(‘m::‘—lg=Sandx_r'—ﬂ,thmwhatisthevalueof(m— 1_)"

Vix) o

vs)
e

&l

o
®

Q.No: 165 What is the area of a rhombus, whose one side is 20 cm and one diagonal is 24 cm?

A 386 cm?
B 240 cm?
c 480 cm?
D 384 cm?

Two trains started from a station, at the same time in the same direction, at speed of 70 km/h and 60 km/h. What will be the distance between the two

Q:No: 166 trains after 6 h?
A 54 km
B 60 km
Cc 42 km
D 84 km

Q.No: 167 Two consecutive numbers added together equal 19. Locate the numbers.

A 9, 10

B 8,9

C 12,13

D 7,8

Q.No: 168 The vertices of a APQR lie on a circle with centre O. SR is a tangent to the circle at the pomnt R. If QR
o bisects the ~ORS, then what is the measure of L RPQ?

A 457

B 60°
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175.5 99

afg SRS g i x 0¥ A (V2R — o) BT A et g

&l &l

S

TF GHEgYS HT &A% T 3, ! T e 20 it 3R Uw fawof 24 a2
386 T

240 TH?
480 #?
384 i

TP RIA Y & ¢4 3 o € o= ¥, U € g9y W AR 70 [ /Her ok 60 fHt./eer 3 mfa ¥
54 km
60 km
42 km
84 km

TR &l T BT S W 19 3Tl §1 Teaft HT gar T |
9,10

8,9

12,13

7,8

APQR & MY s g W Fud &, foie® &g 0% SR & fdeg RW
QR, ~ORS &I & ST AR & diedr &, af LRPQ & AT fargelr &2

45°
60°
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D 30° 30°

A trapezium shaped path has parallel sides of 25m and 5m and its width is 4m. Find the cost of T W 3 SATHT % T B GHMA = 25 o 3RS ot § A sweh dier «
Q.No: 169 yytting grass on the path at 15 rs/m.? T/ 2w 3 i
A Rs. 6800 6800 ¥4
C Rs. 15000 15000 ¥
D Rs. 900 900 ¥

A shopkeeper organizes a sale on Happy hours, offering a discount of 16% on all items. T AT god T Arast < @i Fegall 9% 16% 1 gz 7 Jarher %<9 gy, ekt s
QNo: 170 g4l he makes a profit of 20%. By howmuch percentage CP was lower than MP? o T, ag 20% T AT FATAT 7 ST qea T AT H FF qeq e Ao FwH ¢
A 10% 10%

c 30% 30%
D 15% 15%
Q.No: 171 a8 G& 951 | T 47| 39 96 # "G’ T’ H|

A RS T

B fdrarad W |

ECCIEEGEI

Q.No: 172

FreAferied & § ama Har d ST Yelr 59 are § qdm @ 87

E

Q.No: 173

e 8 ¥ "gexan” @ garawT 31 g
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Q.No: 174 ¥ & ¥ ST AR FHadaud SHdl Bl a9 Biore-

A afe, @, < @, gafy, qurfy
c i, =Y, afe, &
D 3ryfa, wr, Tty

Q.No: 175 FHfifed # ¥ sgaad e &1 994 Hifore-
A gfem
B fafemr

P

Q.No: 176 = & ¥ HH-U1 ey 3y i @ o1 Tt 3T 82
7 pifern @ fredt ura 3
T 919 B § USH pEIRS |

A yitfer gt 7w R fee &,
quE W T A B0

faw &1 srawT Wy U

TE o1 $S difed gt T
oM R ot o e,

FUA FA TEAH BT HUTI

I W T ¥, fewg oy e T
ARG A Y& N 3¢, TR gR S YA UR T Ui

Q.No: 177 Fefifad & ¥ “sma” &1 vafgard T o 82

B EicEiced
C gz
D 3=t

Q.No: 178 e # § s ad-t arct Xeq 1 997 HifoTe-
A it
B Euicoc
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D wvfa

Q.No: 179 1 # 3 5w Rwey & Pz a1 Y@ forg 1 Wi wet fovan man g2
A I o & SRR gremd (31 3UeR Fidw) § g &1 sy |
B AT F Arar-far va € oM 31

c ol A PET ¢ —"WAed IR R A w1

D faqr: ave s

No: 180 Ffifad & & Al "o @RI g € =M =Te) ~ o1 & 3 872
DT B aTeil Bt P Bt §, G PI AL
3Ted B8 41 W Mt $B-9-58 YuTd AV I8 € 9T B
413 A &t mr-wiwa )
U B I I e

O 0 W » 0

.No: 181 3eiad el &7 F fawma W aifie aa faam o a1 § aur & P I BT S G B
WRifre
TS
YR
BTy

O 0O m >» O

“TF IR IR TG, TH 3R FRE|
Q.No: 182 fowpd Feig! &9 §, wal a1 @[

I dfedt & SIH-91 79 82
A YA T
B RUGKS:]
[o YIS T
D FE

Q.No: 183 3R &1 vafaarh v Fefi@d & & wH-w1 82

A g™
B IRNT
C LlUfEg
D Helqd

Q.No: 184 FERIEd H ¥ $H-T1 g TYIY THN BT Te] IR 82
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A dR-dR
B Rinikicad
C PGS d
D SEHHT

Q.No: 185 FfiRad # J "R 1 YfexT Weq 41 G2

A uRars
B e

C ufams
D fare

In the below question, sentence/passage is split into four parts and named P, Q, R & S. These four parts are not given in their proper order. Read the sentence/passage and find out which of the four combinations is correct.

P. The man was evidently a foreigner of some sort, he wore a peculiar hat on his red hair, which was neatly brushed.
Q.No: 186
Q. He had a foreign-looking cape round his shoulders, and brightly polished, pointed shoes.

R. For some reason he wore bicycle-clips round the bottoms of his trousers, and this made him even more foreign-looking.
S. He wore dark glasses on his nose and his cheeks were very bulgy.

PQRS

QRPS

PSQR

g 0O ®w >

QSRP

Find the most appropriate option for the given blank space which makes the given sentence grammatically and contextually correct.
Q.No: 187
She runs a successful software company she didn’t complete her college degree.
in case
even though

when

o 0O W >

now that

Select the synonym of the given word.
Q.No: 188
Serene
Precise
Peaceful

Unfamiliar

o 0O o >

Upright
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Select the most appropriate synonym of the given word.
Q.No: 189
Grotesque

Bizarre
Siren

Absent

o 0O w »

Laughable

Identify the segment that contains a grammatical error. If there is no error, select 'No error'.
Q.No: 190
He sat down in a darkly corner and covered his face, and would not say a single word to anyone.
not say a single word to anyone.
He sat down in a darkly corner

and covered his face, and would

o 0O W >

No error

In the question below consists of a set of labelled sentences. These sentences, when properly sequenced form a coherent paragraph. Select the most logical order of sentences from among the options.

P. The Mi-35 was seen as an assault chopper designed to carry troops into heavily defended territories.
Q.No: 191
Q. India has been operating the Russian origin Mi-35 for years and the Apaches are set to replace the Russian-made choppers.

R. The two pilot Apache on the other hand is seen as a dedicated attack chopper.
S. The Apache is seen as the first attack helicopter in India's defence arsenal.
PQRS

QRPS

SQPR

g 0o w >

RQSP

Select the most appropriate antonym of the given word.
Q.No: 192
Infatuation
Portent
Cupidity
Injunction

Indifference

o 0O W >

Select the most appropriate meaning of the given idiom.
Q.No: 193
Move the goalposts.
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A To put a lot of effort into something.
Unfairly alter the conditions or rules of a procedure during its course.

To do your research and understand clearly what your goals are.

O O w

To move the goalpost after an attempt has been made to score a goal.

Select the most appropriate option to fill in the blank.
Q.No: 194
I knocked at the door but got no
question
response

creation

o 0O W >

whisper

Select the most appropriate synonym of the given word.
Q.No: 195
ARTFUL
Benign
Crafty

Ignorant

o 0O W >

Prudent

In the following question, a part of the sentence may contain an error. Identify the part that contains the error and select it as your answer. If the sentence is free from error, select 'No error'.
Q.No: 196
The number of cases of rash and negligent driving are on the rise.
No error
driving are on the rise.

of rash and negligent

o 0O W >

The number of cases

Select the most appropriate word for the given group of words.
Q.No: 197
An afternoon performance in a theatre or cinema.

Canvas.
Matinee.

Comedy.

g 0 ®w >

Premiere.

Q.No: 198 In the below question, four sentences are given, which when properly arranged, make up a paragraph. Rearrange the given sentences and choose the option that provides the correct final order.
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P. My brother, although the old woman was a stranger to him, did not hesitate to do as she wished.
Q. He gave her a vessel of water and then went back to his place and his thoughts, and with his mind busy over his last adventure, he put his gold into a long and narrow purse, which he could easily carry in his belt.
R. During this time the old woman was busy over her prayers.

S. When she had finished she came and prostrated herself twice before my brother.
SPQR

PQRS
SQRP

o 0 W >

PSQR

Identify the segment in the sentence which contains the grammatical error from the given options.
© MPESB. All rights reserved
Q.No: 199

Scientists believe that many animals have a unique languages of their own.
their own
that many

languages

O 0 W >

Scientists

Q.No: 200 Select the correctly spelt word.

A Magistierial
B Stringent

C Faltoring

D Flexibal
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